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1. Do not open the booklet unless you are 
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 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 
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iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. ,- Vh- ih- dh [kkst fdlds }kjk dh xbZ  

Fkh \ 

 
1. ATP was discovered by ............. . 

(A) dkyZ yksgeku  (A) Karl Lohman 

(B) fyieku  (B)  Lipmann 

(C) ckmeSu  (C)  Bowman 

(D) CySdeSu  (D)  Blackman 

2. isaVkst ‘kdZjk ds lkFk I;wjhu ;k fijhfeMhu {kkj 

ds la;kstu ds :i esa tkuk tkrk gS % 

 
2. Combination of a purine or pyrimidine 

base with pentose sugar is known as : 

(A) U;wfDy;ksVkbM~l  (A) Nucleotides 

(B) U;wfDy;kslkbM~l  (B)  Nucleosides 

(C) U;wfDyd ,flM  (C)  Nucleic acid 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. RNA esa mifLFkr isUVkst ‘kdZjk gS % 
 

3. The pentose sugar present in RNA  

is .............. . 

(A) xSysDVkst  (A) Galactose 

(B) lqØkst  (B)  Sucrose 

(C) jkbckst  (C)  Ribose 

(D) ÝDVkst  (D)  Fructose 
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4. 
------------------------ 

lajpukRed ikWyhlSdsjkbM ds :i esa 

tkuk tkrk gSA 

 
4. .......... is known as the structural 

polysaccharide. 

(A) lsywykst  (A) Cellulose 

(B) LVkpZ  (B)  Starch 

(C) buqfyu  (C)  Inulin 

(D) ,d ls vf/kd  (D)  More than one 

5. ikS/kksa esa yxHkx lHkh ‘kdZjk gksrh gSa % 
 

5. Almost all the sugars in plants are : 

(A) Mh&’kdZjk  (A) D-sugar 

(B) ,y&’kdZjk  (B)  L-sugars 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. fQ’kj ds Xywdkst ds lw= esa 
------------------- 

vlefer 

dkcZu ijek.kq gksrs gSaA 

 
6. Fischer’s formula of glucose contains 

............. asymmetric carbon atoms. 

(A) 2  (A) 2 

(B)  3  (B)  3 

(C)  4  (C)  4 

(D)  5  (D)  5 
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7. Xywdkst vkSj ÝDVkst oSdfYid :i ls lfØ; 

vkSj 
------------------ 

gSA 

 
7. Glucose and fructose are optically active 

and ............. . 

(A) MsDlVªksjksVsVjh  (A) Dextrorotatory 

(B) yhoksjksVsVjh  (B)  Leevorotatory 

(C) Øe’k% MsDlVªksjksVsVjh vkSj yhoksjksVsVjh  (C)  Dextrorotatory and Leevorotatory 

respectively 

(D) Øe’k% yhoksjksVsVjh vkSj MsDlVªksjksVsVjh  (D)  Leevorotatory and Dextrorotatory 

respectively  

8. dsUnzd esa mifLFkr vf/kdka’k lkekU; 

eksukslSdsjkbM gSa % 

 
8. Most common monosaccharides present 

in the nucleus are : 

(A) Vªk;kst  (A) Trioses 

(B) VsVªkst  (B)  Tetroses 

(C) isUVkst  (C)  Pentoses 

(D) gsDlkst  (D)  Hexoses 

9. yslhfFku gS % 
 

9. Lecithin is : 

(A) QkWLQksfyfiM  (A) Phospholipid 

(B) dkcksZgkbMªsV  (B)  Carbohydrate 

(C) izksVhu  (C)  Protein 

(D) vehuks ,flM  (D)  Amino acid 
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10. fuEufyf[kr esa ls dkSu&lk ,d lar`Ir olh; 

vEy gS \ 

 
10. Which of the following is a saturated 

fatty acid ? 

(A) ikfefVd ,flM  (A) Palmitic acid 

(B) vksyhd ,flM  (B)  Oleic acid 

(C) LVh;fjd ,flM  (C)  Stearic acid 

(D) nksuksa (A) vkSj (C)  (D)  Both (A) and (C) 

11. vlar`Ir olk dks lar`Ir fd;k tkrk  

gS % 

 
11. Unsaturated fats are made saturated  

by : 

(A) ikWfyejkbts’ku }kjk  (A) Polymerization 

(B) futZyhdj.k }kjk  (B)  Dehydrogenation 

(C) ladj.k }kjk  (C)  Hybridization 

(D) gkbMªkstuhdj.k }kjk  (D)  Hydrogenation 

12. ouLifr rsy esa 
------------------------- 

VªkbZfXyljkbM~l dh 

mPPk ek=k gksrh gSA 

 
12. Vegetable oil contains high amount of 

............... triglycerides. 

(A) lar`Ir  (A) Saturated 

(B) vlar`Ir  (B)  Unsaturated 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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13. lcls vlar`Ir olh; vEYk gS % 
 

13. The most unsaturated fatty acid is : 

(A) fyuksyhd ,flM  (A) Linoleic acid 

(B) vksyhd ,flM  (B)  Oleic acid 

(C) fyuksysfud ,flM  (C)  Linolenic acid 

(D) ,jkfdMksfud ,flM  (D)  Arachidonic acid 

14. izksVhu dh izkFkfed lajpuk fdl ckW.M~l ds 

dkj.k gksrh gS \ 

 
14. Primary structure of protein is due to 

............... bonds. 

(A) isIVkbM  (A) Peptide 

(B) gkbMªkstu  (B)  Hydrogen 

(C) ,l&,l  (C)  S-S 

(D) vk;fud   (D)  Ionic  

15. VªkUl,feus’ku izfrfØ;k esa ‘kkfey dks&,Utkbe 

gS % 

 
15. The coenzyme involved in transamination 

reaction is : 

(A) fijhMkWDly QkWLQsV  (A) Pyridoxal phosphate 

(B) Fkk;feu QkbVksQkWLQsV  (B)  Thiamine phytophosphate 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B)  

(D) vdkcZfud QkWLQsV  (D)  Inorganic phosphate 
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16. dkcksZgkbMªsV~l D;k gksrs gSa \ 
 

16. What are carbohydrates ? 

(A) ikWyhgkbfMªd ,YdksgkWy  (A) Polyhydric alcohol 

(B) ikWyhdkcksZDlhfyd vEy  (B)  Polycarboxylic acid 

(C) ikWyhgkbMkWDlh,fYMgkbM vkSj dhVksu  (C)  Polyhydroxyaldehyde and ketone 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

17. fuEufyf[kr esa ls dkSu&lk dkcksZgkbMªsV ‘kdZjk 

ugha gS \ 

 
17. Which of the following carbohydrates is 

not a sugar ? 

(A) Xywdkst  (A) Glucose 

(B) ÝDVkst  (B)  Frutose 

(C) lqØkst  (C)  Sucrose 

(D) LVkpZ  (D)  Starch 

18. fuEufyf[kr esa ls fdl ;kSfxd dk foy;u 

vk;ksMhu ds lkFk uhyk jax nsrk gS \ 

 
18. Which of the following compounds gives 

blue colour along with iodine solution ? 

(A) LVkpZ  (A) Starch 

(B) Xywdkst  (B)  Glucose 

(C) ÝDVkst+  (C)  Fructose 

(D) lqØkst  (D)  Sucrose 

19. 
-------------------------------- 

lcls de ehBh ‘kdZjk gSA 
 

19. ................ is the least sweet sugar. 

(A) ÝDVkst  (A) Fructose 

(B) lqØkst  (B)  Sucrose 

(C) ySDVkst  (C)  Lactose 

(D) Xywdkst  (D)  Glucose 
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20. dkcksZgkbMªsV mikip; dk vfUre mRikn D;k 

gksrk gS \ 

 
20. What is the end product of carbohydrate 

metabolism ? 

(A) 2CO  ¼dkcZu MkbvkWDlkbM½ $ ty  (A) CO2 + Water 

(B) vkWDlhtu $ ty  (B)  O2 + Water 

(C) gkbMªkstu $ ty  (C)  H2 + Water 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

21. ikWyhlSdsjkbM ds tyvi?kVu ls tc dbZ 

izdkj ds eksukslSdsjkbM ds v.kq izkIr gksrs gSa] 

rks og dgykrk gS % 

 
21. When many types of monosaccharide 

molecules are obtained by hydrolysis of 

polysaccharides, then it is called : 

(A) letkrh; lSdsjkbM  (A) Homogeneous saccharides 

(B) fo”ketkrh; lSdsjkbM  (B)  Heterogeneous saccharide 

(C) VsVªk lSdsjkbM  (C)  Tetra saccharide 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

22. lqØkst ds tyvi?kVu ls izkIr gksrk gS % 
 

22. The hydrolysis of sucrose gives : 

(A) Xywdkst rFkk ÝDVkst  (A) Glucose and Fructose 

(B) ÝDVkst rFkk ySDVkst  (B)  Fructose and Lactose 

(C) ySDVkst rFkk ekYVkst  (C)  Lactose and Maltose 

(D) Xywdkst rFkk dhVkst  (D)  Glucose and Ketose 
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23. fuEufyf[kr esa ls lgh ikWyhlSdsjkbM gS % 
 

23. Polysaccharide is right in the following : 

(A) lqØkst  (A) Sucrose 

(B) ÝDVkst  (B)  Fructose 

(C) Xywdkst  (C)  Glucose 

(D) lsY;wykst  (D)  Cellulose 

24. tSojlk;u dk firk dgk tkrk gS % 
 

24. Who is the known as the father of 

Biochemistry ? 

(A) okWu gsye.V  (A) Ban Helmont 

(B) dkyZ usoxZ  (B)  Karl Newarg 

(C) ysokf’k;s  (C)  Levosier 

(D) ekbdy D;wjy  (D)  Michael Qural 

25. vUr%lzkoh xzfUFk;ksa dk foKku dgykrk  

gS % 

 
25. The science of endocrine glands is  

called : 

(A) ,UtkbeksykWth  (A) Enzymology 

(B) b.MksØkbuksykWth  (B)  Endocrinology 

(C) tho jlk;u  (C)  Biochemistry 

(D) dkcZfud jlk;u  (D)  Organic chemistry 

26. 
------------------------------- 

olk vkSj rsy gSaA 
 

26. .............. are fat and oil. 

(A) XykbdksfyfiM~l  (A) Glycolipids 

(B) VªkbZfXyljkbM  (B)  Triglyceride 

(C) QkWLQksfyfiM~l  (C)  Phospholipids 

(D) fyfiM~l  (D)  Lipids 
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27. XykbdksfyfiM~l fdl izdkj ds fyfiM~l gSa \ 
 

27. What type of lipids are glycolipids ? 

(A) ljy fyfiM~l  (A) Simple lipids 

(B) fefJr fyfiM  (B)  Compound lipids 

(C) O;qRikfnr fyfiM  (C)  Derived lipids 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

28. VªkbZfXyljkbM ds tyvi?kVu ls 
-----------------------+

 vkSj 

---------------------
 izkIr gksrk gSA 

 
28. ............. is obtained from the hydrolysis 

of triglycerides. 

(A) fXyljkWy vkSj olh; vEy  (A) Glycerol and fatty acid 

(B) olk vkSj rsy  (B)  Fat and oil 

(C) fXyljkWy vkSj izksVhu  (C)  Glycerol and protein 

(D) olk vkSj izksVhu  (D)  Fat and protein 

29. ^izksVhu* ‘kCn dks fdlus fn;k Fkk \ 
 

29. Who gave the word ‘protein’ ? 

(A) eqYMj  (A) Mulder 

(B) cthZfy;l  (B)  Bergilius 

(C) okVlu  (C)  Watson 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

30. ,ehuks vEy fdlds fuekZ.k dh bdkbZ gksrh gSa \ 
 

30. Amino acids are the units of synthesis  

of : 

(A) dkcksZgkbMªsV  (A) Carbohydrate 

(B) olk  (B)  Fat 

(C) foVkfeUl  (C)  Vitamins 

(D) izksVhu  (D)  Protein 
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31. ,d xzke izksVhu fdrus fdyksdSyksjh ÅtkZ 

iznku djrh gS \ 

 
31. One gram of protein provides how many 

kcal energy ? 

(A) 4.8  (A) 4.8 

(B)  7.2  (B)  7.2 

(C)  9.5  (C)  9.5 

(D)  5.6  (D)  5.6 

32. thoksa dh vkuqoaf’kd lwpuk fdlesa lafpr gksrh 

gS \ 

 
32. Where is the genetic information of 

organisms stored ? 

(A) olh; vEy  (A) Fatty acid 

(B) U;wfDyd vEy  (B)  Nucleic acid 

(C) ,ehuks vEy  (C)  Amino acid 

(D) gkbMªkWDlh vEy  (D)  Hydroxy acid 

33. fuEufyf[kr esa I;wjhu mifLFkr gS % 
 

33. Purines are present in the following : 

(A) Fkkbehu  (A) Thymine 

(B) ,Msuhu  (B)  Adenine 

(C) ;wjsfly  (C)  Uracil 

(D) lkbVkslhu  (D)  Cytosine 

34. izksVhu ds tSola’ys”k.k ds fy, vko’;d rRo 

gS % 

 
34. It is an essential element for the 

biosynthesis of proteins : 

(A) N ¼ukbVªkstu½  (A) N 

(B) Fe ¼vk;ju½  (B)  Fe 

(C) Mg ¼eSXuhf’k;e½  (C)  Mg 

(D) Ca ¼dSfY’k;e½  (D)  Ca 
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35. isIVkbM fyadst ik;k tkrk gS % 
 

35. Peptide linkage is found in : 

(A) vfeuks vEy esa  (A) Amino acid 

(B) fXyljkWy v.kqvksa esa  (B)  Gycerol molecules 

(C) Xywdkst v.kqvksa esa  (C)  Glucose molecules 

(D) lqØkst v.kqvksa esa  (D)  Sucrose molecules 

36. DNA dh Mcy gsfydy lajpuk dh [kkst dh 

Fkh % 

 
36. The double helical structure of DNA was 

discovered by : 

(A) okVlu vkSj fØd us  (A) Watson and Crik 

(B) eqYMj vkSj cthZfy;l us  (B)  Mulder and Bergilius 

(C) jkWcVZ czkmu us  (C)  Robert Brown 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

37. ,Utkbe gksrs gSa % 
 

37. Contain enzymes : 

(A) cSDVhfj;k  (A) Bacteria 

(B) vehuks ,flM  (B)  Amino acids 

(C) izksVhu  (C)  Protein 

(D) dkcksZgkbMªsV  (D)  Carbohydrate 

38. ^,Utkbe* ‘kCn dk iz;ksx loZizFke fdlus 

fd;k Fkk \ 

 
38. Who first used the word ‘enzyme’ ? 

(A) tsEl ch- lecj  (A) James B. Samber 

(B) ÝsMfjd fcYgse dqgu  (B)  Frederick Bilham Kuhn 

(C) feyj  (C)  Miller 

(D) eqYMj  (D)  Mulder 
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39. gksyks,sUtkbe dk izksVhu Hkkx dgykrk gS % 
 

39. The protein part of the holoenzyme is 

called : 

(A) dks&QSDVj  (A) Co-factor 

(B) dks&,Utkbe  (B)  Co-enzyme 

(C) vkblks,Utkbe  (C)  Isoenzyme 

(D) ,iks,Utkbe  (D)  Apoenzyme 

40. euq”; ds ykj esa mifLFkr ,Utkbe dk uke  

gS % 

 
40. Name the enzyme present in human 

saliva : 

(A) tkbest+  (A) Zymase 

(B) bUoVsZt+  (B)  Invertase 

(C) ,ekbyst+  (C)  Amylase 

(D) ;wfj,t  (D)  Urease 

41. ,Utkbe fØ;k dh rkyk&dqUth ifjdYiuk dks 

fdlus fn;k Fkk \ 

 
41. Lock and Key hypothesis of enzyme 

action was given by : 

(A) cqpuj  (A) Buchner 

(B) fQ’kj  (B)  Fischer 

(C) dks’kyS.M  (C)  Koshland 

(D) dqgu  (D)  Kuhn 
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42. ,ekbyst ,Utkbe dk eq[; dk;Z gS % 
 

42. The main function of amylase enzyme is : 

(A) olk ikpu  (A) Fat digestion 

(B) dkcksZgkbMªsM ikpu  (B)  Carbohydrate digestion 

(C) izksVhu ikpu  (C)  Protein digestion 

(D) [kfut ikpu  (D)  Mineral digestion 

43. fuEufyf[kr esa ls dkSu&lk olk foys; foVkfeu 

ugha gS \ 

 
43. Which of the following is not a fat 

soluble vitamin ? 

(A) 2B   (A) 2B  

(B)  A  (B)  A 

(C)  D  (C)  D 

(D)  E  (D)  E 

44. fuEufyf[kr esa ls dkSu&lk ty foys; foVkfeu 

ugha gS \ 

 
44. Which of the following is not a water 

soluble vitamin ? 

(A) fu;kflu  (A) Niacin 

(B) jkbcks¶ysfou  (B)  Riboflavin 

(C) ck;ksfVu  (C)  Biotin 

(D) VksdksfQjkWy  (D)  Tocopherol 

45. chVk&dSjksVhu ds tyvi?kVu ls foVkfeu ^,* 

dh fdruh la[;k mRiUu gksrh gS \ 

 
45. How many Vitamin ‘A’ are produced by 

hydrolysis of  -carotene ? 

(A) 1  (A) 1 

(B)  2  (B)  2 

(C)  3  (C)  3 

(D)  4  (D)  4 
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46. foVkfeu ^,* dk jklk;fud uke D;k gS \ 
 

46. What is the chemical name of  

Vitamin ‘A’ ? 

(A) dksysdSfYlfQjkWy  (A) Cholecalciferol 

(B) VksdksfQjkWy  (B)  Tocopherol 

(C) jsfVukWy  (C)  Retinol 

(D) Fkk;ehu  (D)  Thiamine 

47. fuEufyf[kr esa ls dkSu&lk foVkfeu ^bZ* dk 

lcls vPNk lzksr gS \ 

 
47. Which of the following is the best source 

of Vitamin ‘E’ ? 

(A) lks;kchu  (A) Soybean 

(B) xsgw¡  (B)  Wheat 

(C) vylh  (C)  Linseed 

(D) ew¡xQyh  (D)  Groundnut 

48. foVkfeu dh deh dgykrh gS % 
 

48. Vitamin deficiency is called : 

(A) Xykbdksykbfll  (A) Glycolysis 

(B) ,foVkfeuksfll  (B)  Avitaminosis 

(C) gkbMªksykbfll  (C)  Hydrolysis 

(D) ohVkekbu  (D)  Vitamine 

49. fuEufyf[kr esa ls fdl foVkfeu dh deh ls 

ekuo esa [kwu dk FkDdk ugha curk gS \ 

 
49. Deficiency of which of the following 

vitamin does not lead to the formation of 

blood in humans ? 

(A) foVkfeu A  (A) Vitamin A 

(B) foVkfeu C  (B)  Vitamin C 

(C) foVkfeu E  (C)  Vitamin E 

(D) foVkfeu K  (D)  Vitamin K 



 

AG-206 ( 17 )  Set-D 

50. foVkfeu ch1 dks vkSj fdl uke ls tkurs gSa \ 
 

50. Vitamin B1 is known by what other  

name ? 

(A) Fkk;ehu  (A) Thiamine 

(B) jkbcks¶ysfou  (B)  Riboflavin 

(C) ck;ksfVu  (C)  Biotin 

(D) Qksfyd ,flM  (D)  Folic acid 

51. 6 8 6C H O  v.kqlw= fdl foVkfeu dk gS \ 
 

51. 6 8 6C H O  molecular formula belogns to 

which Vitamin ?  

(A) foVkfeu D  (A) Vitamin D 

(B) foVkfeu E  (B)  Vitamin E 

(C) foVkfeu K  (C)  Vitamin K 

(D) foVkfeu C  (D)  Vitamin C 

52. foVkfeu ^bZ* dk jklk;fud uke gS % 
 

52. The chemical name of Vitamin ‘E’ is : 

(A) jsfVukWy  (A) Retinol 

(B) Fkk;ehu  (B)  Thiamine 

(C) VksdksfQjkWy  (C)  Tocopherol 

(D) fu;kflu  (D)  Niacin 

53. izksVhu dk eq[; dk;Z gS % 
 

53. The main function of protein is : 

(A) ÅtkZ iznku djuk  (A) To provide energy 

(B) ‘kkjhfjd o`f) djuk  (B)  Physical growth 

(C) dksf’kdk fuekZ.k djuk  (C)  Cell formation 

(D) mi;qZDr lHkh  (D)  All of the above 
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54. Xywdkst dks Qsgfyax foy;u ds lkFk xeZ djus 

ij fdl jax dk vo{ksi izkIr gksrk gS \ 

 
54. What color precipitate is obtained when 

glucose is heated with Fehling’s  

solution ? 

(A) ihyk  (A) Yellow 

(B) dkyk  (B)  Black 

(C) uhyk  (C)  Blue 

(D) yky  (D)  Red 

55. fuEufyf[kr esa ls dkSu&lk vipk;d ‘kdZjk 

ugha gS \ 

 
55. Which of the following is not a reducing 

sugar ? 

(A) Xywdkst  (A) Glucose 

(B) ÝDVkst  (B)  Fructose 

(C) EkkYVkst  (C)  Maltose 

(D) lqØkst  (D)  Sucrose 

56. vkWDlhdj.k ij izfr xzke vf/kdre ÅtkZ izkIr 

gksrh gS % 

 
56. The maximum energy per gram on 

oxidization is yielded from : 

(A) olk ls  (A) Fat 

(B) izksVhu ls  (B)  Protein 

(C) Xykbdkstu ls  (C)  Glycogen 

(D) LVkpZ ls  (D)  Starch 

57. 
---------------------

 mnklhu fyfiM dgykrs gSaA 
 

57. ............. are called as neutral lipids. 

(A) VªkbZfXyljkbM~l vkSj oSDlsl  (A) Triglycerides and waxes 

(B) QkWLQksfyfiM~l vkSj XykbdksfyfiM~l  (B)  Phospholipids and glycolipids 

(C) LVsjkWYl  (C)  Sterols 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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58. ikfefVd ,flM esa gksrk gS % 
 

58. Palmitic acid contains ............. .  

(A) 14&lh ijek.kq  (A) 14-C atoms 

(B) 16&lh ijek.kq  (B)  16-C atoms 

(C) 18&lh ijek.kq  (C)  18-C atoms 

(D) 20&lh ijek.kq  (D)  20-C atoms 

59. olk 
-----------------------------

 dksf’kdkvksa ds fgLls esa 

laxzfgr fd;k tkrk gSA 

 
59. Fats are stored in ..................... part of 

cells. 

(A) LQsjkslkse ¼vkWfy;kslkse½  (A) Spherosomes (oleosomes) 

(B) ykblkslkse  (B)  Lysosomes 

(C) lkbVkslksy  (C)  Cytosol 

(D) mi;qZDr lHkh  (D)  All of the above 

60. ØsCl pØ dk LFky gS % 
 

60. Site of Kreb’s cycle is : 

(A) lkbVksIykTe  (A) Cytoplasm 

(B) ekbVksdkWfUMª;k   (B)  Mitochondria 

(C) DyksjksIykLV  (C)  Chloroplast 

(D) ukfHkd  (D)  Nucleus 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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